
Oceny Zosi: 
 5 (praca klasowa nr 1)     5 5 5 
 5 (praca klasowa nr 2)     5 5 5 
 5 (kartkówka nr 1)            5 5 
 5 (kartkówka nr 2)            5 5 
 1 (praca domowa)             1 
 2 (aktywność)                     2 

Średnia arytmetyczna ocen Zosi wynosi: 3,25 
 
Średnia ważona ocen Zosi wynosi: 4,42 

Oceny Kasi: 
 5 (praca klasowa nr 1)  5 5 5 
 5 (praca klasowa nr 2)  5 5 5 
 1 (kartkówka nr 1)         1 1 
 2 (kartkówka nr 2)         2 2 
 5 (praca domowa)         5  
 5 (aktywność)                 5 
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